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Section-B 3
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2. Discuss the characteristics of an ideal system of Cost Accounting.
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3. What are different methods of calculating profit on an incomplete contfabt ?

Explain with illustration.
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A factory has received an order for the supply of three types of casting weighing
36, 90, 54 kg. respectively. 10% of the raw materials used are wasted in
manufacturing and are sold as scrape for 20% of the cost price of raw materials.
Material cost ¥ 500 per kg and the wages would amount to ¥ 12,000, ¥ 31,500,
¥ 16,500 respectively. The cost of moulds of casting is ¥ 1,200, ¥ 1,000, ¥ 900
respectively. Factory overhead are to be charged at 40% of wages, administration
and other overhead at 20% of works cost. It is desired to earn a profit of 25%

on selling price. Ascertain the price to be quoted for the supply of these different

types of castings on the basis of the above information.
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Z 4.00°000

Fixed selling and distributed overhead < 2,00,000
Variable cost per unit X 12
Selling price per unit T 20
Calculate :

(@)  Break-even point in units

(b)

Units to be sold to earn a target net income of ¥ 5,000 per month during
a year.

()  Number of units to éam a net income of 25% on cost.
(d)  Selling price per unit if Break-even point is to be brought down by 15,000
units.

()  Selling price to earn a profit of 20% on sales by selling only 50,000 units.
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11.

12.

The following data are available in respect of a process for Feb. 2020 .:- |

o & W 2020w%m@mawmﬁuwﬁmt:.»,,
Opening work in progress 1800 units at 29,000, (Material 2 5,400;
Labour % 1,080: Overhead % 2,520)

Degree of Completion — Material 100% labour and ovérhead 60%

Input of Material — 18,200 units at ¥ 54,600

Direct wages — ¥ 16,400 and production overhead ¥ 32,800
Units scrapped — 2,400 units

Degree of completion — Material 100% labour and overhead 70%
Closing work-in-progress 2000 units

Degree of Completion — Material 100% Labour and Overhead 80%

Units transferred to next process — 15,600 units

Normal process loss is 10% of total input (opening stock + unit introduced)
scrap value is ¥ 3 per unit.

You are required to :

(@) Compute equivalent production using FIFO method.

(b)  Cost per equivalent unit for each element and cost of abnormal loss,
closing W.I.P. and units transferred to next process.

(c)  Prepare Process Account.
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What do you mean by ‘Integrated Accounting’ ? Explain its features and

advantages.
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